OT ES Grammar & Writing (T3) Issue 9

Answer _Vey

Subject and Verb Agreement

1. were = was

2. correct

3. Are = 1Is

4. Are = Is

5. correct

6. have = has
7. correct

8. know = knows
9. was = were
10. were = was
11. see = sees

12. are = 1s

13. has = have

14. correct

15. correct

16. correct

17. have = has

18. correct

19. correct

20. wish = wishes
21.1s = are

22. were = was
23. cotrrect

24. don’t = doesn’t

Subject and Verb Agreement

25. correct

26. know = knows

27. correct

28. sees = see
29. correct

30. correct
31. was = were

32. were = was

33. correct

34. were = was
Someone was

35. are = 1s

36. are = s
37. correct

38. correct

39. their notes = his/her note
40. do = does

41. them = him/her

42. Have = Has
43, correct

44, correct
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Stative Vs. Progressive Verbs

1.
2.

A A N

20.
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Answer Vey

are seeing
is costing/costs
is currently appearing

am doing
consists

doesn’t see
appears
weighs
costs

am being
am not

. Aren’t you forgetting
. has

. forget

. am thinking .. think

. 1s having

. Imagine

. am smelling

smells

. Are you being
. is looking

look

. is weighing

needs

18

Sentence Exercise

21.

C

22.
23.
24.
25.
Paragraph
26.
27.

Sentence Basics
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.

A
D
B
D

E
C

B
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